Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Leikhan Kaipu Name of Political Party, if any: Independent Constituency from which contested: Outer Masepur loss Li Tunney (42- Tingoneupal (ST) Ac

Date of Declaration of Result:

020

Name and address of Election Agent: Sewanse

Total expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

0)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	of exper	nditure	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/	Remarks, if any
e e	Description	Qty.	Rate per unit							
25/3/19	SD	1	12,580				12,500		5.	
	Gypsy	в	1800	5,400	TRec	end	5,400	the	o Anne	6
are	Yan	2	1450	2,900.	1-K	nd	2,900	adviced	e dati	1170.
1000								N/2	pulis 011	V
						Totol	20,800/	0		

be furnished after the date of declaration of result).

NO-2 OMPC (ST), THOUBAL

lithon taipe

Signature of the candidate

01

Annexure-El

(Part A) Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Lumbur Kiph Name of Political Party, if any: Indipater Constituency from which contested: Olit Miniplus Lan HK-y (September 1). A e Date of Declaration of Result:

Name and address of Election Agent: De won So

Total expenditure incurred / authorized: (From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o		diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other	Remarks, if any
	Description	Qty.	Rate per unit							
26/3/19										
27/3/19						~	NII -			
28/3/19		-	_							
29/3/19	1									
30/3/19							_			

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate) be furnished after the date of declaration of result).

lighton taipel

Signature of the candidate

02

Annexure-E1

03

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: Shire, Leikhom Kaiper Name of Political Party, if any: Independent (IND) THOUSE Constituency from which contested: 11 - Outree Manipur Constituency (17th Lok sebby, 2019) Date of Declaration of Result: 42 - Tengmon pel (ST) A/C.

Name and address of Election Agent:

fotal expenditure incurred / authorized:

From the date of nomination to the date of declaration of result of election, both dates inclusive)

1	2			3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
1/4/19						0	11-			
2/4/19	Ceret.					- 1				
3/4/19		1		2						
গ		1	e un	2.00			5 8 6 C			
			- 28	1.496						

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

leithan taiper

Signature of the candidate

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (11) Constituency from which contested: 11 - OMPC, 17⁷⁵ Lok sabba, 2019, 42 - Tengnoupel (57)

Date of Declaration of Result:

Name and address of Election Agent:

fotal expenditure incurred / authorized:

From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	authorized by candidate or his	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
9/4/13	Tea	100	10	RS 1000	Bd	G	1000			
4/4/19	ehians	60	5	300	Self	7	300			
4/4/19	thank to	1	3,300	3,300	- 5		3300			
4/4/19	je-p	1	2,000	2,000			2000			
311	· 2.	toto	l = R	6600			10 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -	14.		

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

BF=B20,800+6600=R27,4007 leithou

Signature of the candidate

04

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Name of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (14) Constituency from which contested: 11-0 MPC, = 17th Lok sabha, 2019 (42-Tenynouped (57))

Date of Declaration of Result:

Name and address of Election Agent:

lotal expenditure incurred / authorized:

From the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of expenditure/ event	Nature o	f expen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
74/19	chions	60	5	300			300			
14/19	lektak	115	50	750	·t		750			
14/19	patoto	46	20	.920	J.		720			
	M.OK	\$	11:00	1,1 00	1		1100			
14/19	Rice	64	40	2,560	1	-	2560			

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

BF=R3,27400+

alde

Signature of the candidate

05

Register for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

Tame of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: In Japender (196) Constituency from which contested: 11-OMPE, 17th Lok sabha 2019 (42-Tengnoupal (ST) A/COUP

Date of Declaration of Result:

Jame and address of Election Agent:

'otal expenditure incurred / authorized:

From the date of nomination to the date of declaration of result of election, both dates inclusive)

2 1 3 4 5 6 7 8 9 ReceiptTotal Amount incurred/ Amount incurred/ Name Bill No. Amount incurred/ Date of Amount in authorized by authorized by other voucher authorized by Remarks, and Nature of expenditure expenditure/ Rupees (paid political party and individual/ association/ address No. candidate or his if any event body/any other (mention name of political of payee and date election agent outstanding) full Name and Address) party Rate per Description Qty. unit .3000 3000 Tea 300 5/4/12 16 1500 1000 DWW 150 10 800 vahicle 1800 1800 1459 el 1450 450 4/19 Toto 13380

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

BF=Rs. 27400+13380=Rs 40780+

lithan Triper

Signature of the candidate

06

5

Bill No.

4

Name

legister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

6

Amount incurred/

lame of the Candidate: LEIKHAN KAIPU lame of the Candidate: LEIKHAN KAIPO Name of Political Party, if any: ionstituency from which contested: 11 - OMPC, 1775 Lok Sabha, 2019 (42-Tengno upa (ST)A/C)

2

hate of Declaration of Result:

1

lame and address of Election Agent:

otal expenditure incurred / authorized:

From the date of nomination to the date of declaration of result of election, both dates inclusive)

3

ReceiptTotal

Amount in Date of Remarks, authorized by voucher and individual/association/ political party and Nature of expenditure Rupees (paid expenditure/ if any candidate or his address No. body/any other (mention name of political event of payee and date election agent full Name and Address) party outstanding) Rate per Qty. Description unit 300 200 8/4/19 Ciaros 5 60 -3,000 3,000 10 14/19 300 Tea 700 700 pwin 20 10 14/19 2,000 2,000 Verlek 2000 :141 1456 1456 1450 14/12 ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate

be furnished after the date of declaration of result). $B_{f} = R_{s} 90780 + 7456 = R_{s} 48,236$ leithon taiper

Signature of the candidate

8

Amount incurred/

authorized by other

7

Amount incurred/

authorized by

07

9

Annexure-E1

legister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

5

Bill No.

voucher

4

Name

and

6

Amount incurred/

authorized by

7

Amount incurred/

authorized by

political party and

ame of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (100) onstituency from which contested: 11-OMPC, 17th Lok sabha, 2019 (42-Tengonouped (ST) A/C HOUBE

ate of Declaration of Result:

1

Date of

xpenditure/

ame and address of Election Agent:

otal expenditure incurred / authorized:

2

Nature of expenditure

rom the date of nomination to the date of declaration of result of election, both dates inclusive)

3

ReceiptTotal

Amount in

Rupees (paid

candidate or his address No. if any body/any other (mention name of political event of payee and date election agent full Name and Address) outstanding) party Rate per Description Qty. unit =300 300 5 Chars 20 6volice 1950 350 1950 450 1450 1450 4/19 3700 Toto artified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate

be furnished after the date of declaration of result).

BF=RS. 48,236+3700=Rs. 51,936/

leithan taiper

8

Amount incurred/

authorized by other

individual/association/

Signature of the candidate

08

9

Remarks,

egister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates ame of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (IND) onstituency from which contested: 11-OMPC, 17th Lok Sa bha, 2019 (42-Tengnouped (ST) A/CZUB

ate of Declaration of Result:

ame and address of Election Agent:

stal expenditure incurred / authorized:

rom the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of xpenditure/ event	Nature of	fexpen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any	
	Description	Qty.	Rate per unit				1. 2			
14/19	chiam	60	5	300	l		300			
14/19	Test	300	to	3,000	t		2000			
14/19	PWZn	150	16	1,500	Sal		1500			
14/19	valerk	1	1950	1,950	l		1950			
12/19	in	l	1450	1,450			1450			

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

B.F. = Rs. 51936 + 8200= Rs. 60136/=

lettran Kaiper Signature of the candidate

Annexure-E1

09

Annexure-E1

egister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

(Part A)

me of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (IND) (IND) nstituency from which contested: 1-OMPC, 1775 Lok sabha, 2019 (42 - Tengnoup at 1ST) At THOUBP

te of Declaration of Result:

me and address of Election Agent:

al expenditure incurred / authorized:

om the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of penditure/ event	Nature o	f expen	diture	Amount in Rupees (paid + addre	Name and address of payee	and voucher dress No.	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
14/19	potab	44	20	880			880			
14/19	USant	8	85	680	f.		680			
14/19	mol	*	1100	1100	Se		1100			
14519	Raci	58	42	2436	l		2436			
14/19	1		1 1 10	19.00						

ertified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

RF=RS.60,136+5096=Rs.65,2324

Signature of the candidate

 $\mathbf{010}$

legister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates ame of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (IND), onstituency from which contested: 11-OMPC, 17th Lok Sabha, 2019 (42-Tenguranpal (ST)A/C).

ate of Declaration of Result:

ame and address of Election Agent:

stal expenditure incurred / authorized:

rom the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of xpenditure/ event	Nature o	fexpen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any	
	Description	Qty.	Rate per unit							
14/19	Chian	60	5	300	1		300			
14/19	Ten	300	to	3,000	1		3000			
14/19	moz	50	to	500 (2all		500			
14/19	verale	1	1950	1950	Ÿ		1950			
14/19	na	1	1,500	1500			1500			

stified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

DF=RS.65,232+7250=Rs.72,482/

Signature of the candidate

011

egister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates

ame of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent (IND) THOUGHT Instituency from which contested: 11-OMPC, 12th Lok Sabha, 2019 (12-Jengen up al (ST) A/C)

ate of Declaration of Result:

ame and address of Election Agent:

stal expenditure incurred / authorized:

rom the date of nomination to the date of declaration of result of election, both dates inclusive)

1		2		3	4	5	6	7	8	9
Date of (penditure/ event	Nature o	f expen	diture	Amount in Rupees (paid	Name and address of payee	Bill No. / voucher No. and date	cher authorized by o. candidate or his	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
0/4/19	Churs	60	5	300) (300			
19/19	Tea	300	10	3000	E 3		3000			
14/19	pwini	75	10	750	S.		750			
14/10	und	1	1450	1450			1950			
1/4/19	do	1	1650	1650	L		1650			

rtified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

Signature of the candidate

012

(Part A) egister for Maintenance of Day to Day Accounts of Election Expenditure by Contesting Candidates me of the Candidate: LEIKHAN KAIPU Name of Political Party, if any: Independent instituency from which contested: 11-OMPC, 17th Lok sable, 2019 (92- Tenynouped (ST) a) Course of C

tal expenditure incurred / authorized:

rom the date of nomination to the date of declaration of result of election, both dates inclusive)

- 1		2		3	4	5	6	7	8	9
Date of penditure/ event	Nature o	fexpen	diture	ReceiptTotal Amount in Rupees (paid + outstanding)	Name and address of payee	Bill No. / voucher No. and date	Amount incurred/ authorized by candidate or his election agent	Amount incurred/ authorized by political party and name of political party	Amount incurred/ authorized by other individual/association/ body/any other (mention full Name and Address)	Remarks, if any
	Description	Qty.	Rate per unit							
0/4/19	kgtut	15	20	300			200			
14/19	MOK	\$	1100	1100			1,1000			
	Potato	40	20	800	Pert		800			
14/19	Rice			3,632	ĺ		3,632		5	
			Tufel	12,982F						

trified that this is a true account kept by me/my election agent under Section 77 of the Representation of the People Act, 1951 (Certificate be furnished after the date of declaration of result).

Signature of the candidate